
Installation Template

Side of door
Main hole

Handle shaft hole

Side of door

70mm

13
5m

m

16
m

m
18

m
m

50
m

m

68mm

55mm

70mm

32mm Hole

Folding line Folding line

24.2mm

14mm

33.7m
m

7m
m14mm

16.2m
m

176.1m
m

Mortise width
110mm

14mm

24.2mm

33
.7

m
m

7m
m

7m
m

7m
m 14mm

16
.2

m
m

17
6.

1m
m

Mortise width
110mm

FH 3/16-16 UNC(4EA) FH 3/16-16 UNC(4EA)
24.2mm 24.2mm

In
st

al
la

tio
n 

Ex
pl

od
ed

 V
ie

w
(M

B7
-1

)
LH/RH/LHR/RHR

No
tic

e)
 In

se
rt 

ke
y s

ha
ft 

to
    

    
ho

le 
co

rre
ct

ly.
※

 Fi
x s

cr
ew

s o
f ①

 B
H 

M
5X

30
, 3

EA
 fi

rs
t. 

An
d 

th
en

, fi
x ②

 FH
 T

4X
19

.
OH

 M
5X

11
2E

A
BH

 M
5X

24
2E

A

Sc
re

w
 S

et

FH
 T

4X
19

5E
A

Fr
on

t A
ss

'y
Ba

ck
 A

ss
'y

M
or

tis
e

Br
ac

ke
t f

or
 B

ac
k 

As
s'y

BH
 M

5X
30

 (2
EA

)

BH
 M

5X
30

 (1
EA

)

FH
 T

4X
19

 (2
EA

)

FH
 T

4X
19

 (1
EA

)

FH
 T

4X
19

 (1
EA

)

OH
 M

5X
11

 (2
EA

)

BH
 M

5X
24

 (2
EA

)

FH
 T

4X
19

 (1
EA

)
    

    
    

※
 O

pt
io

na
l u

se

FH
 M

4X
10

2E
A

FH
 3

/1
6-

16
 U

NC
8E

A

②
①

 4
0~

50
m

m
 : B

H 
M

5X
30

 3
EA

②
 7

0~
80

m
m

 : T
H 

M
5X

60
 3

EA
③

 9
0m

m
 : B

H 
M

5X
70

 3
EA

 

Do
or

 T
hi

ck
ne

ss

※
 U

se
 a

pp
ro

pr
ia

te
 sc

re
w

s 
    

 fo
r d

oo
r t

hi
ck

ne
ss

①

③

FH
 3

/1
6-

16
 U

NC
(2

EA
)

FH
 M

4X
10

(1
EA

)

FH
 M

4X
10

(1
EA

)

In
se

rt
 h

an
dl

e 
sh

af
t 

fro
m

 in
do

or
 to

 o
ut

do
or

.

FH
 3

/1
6-

16
 U

NC
(2

EA
)



How to install - 1(Mortise Lock)

Notice

How to install - 2(Product)

2.  Insert handle shaft to rectangular "Handle shaft hole" of 
      installation template and stick the template to indoor side. 
      Fold the template along to folding line.

8. Connect two cables to Back ass'y exactly. Open the battery
     cover of Back ass'y and fix using screws. 
     (Upper side OH M5X11, 2EA / Lower side BH M5X24, 2EA)

☞ Insert batteries correctly and do open/close test at indoor
☞ Register secret code as per user manual
☞ Factory setting : Normal mode, Secret code "①②③④⑤⑥"

4. Make hole as per specification. (Ø32)

7.  As per door thickness, cut the key tail plate refer to the below 
     table. Confirm the cable is not jammed and  fix the front 
     & back ass'y by screws. (BH M5X30, 3EA)

Back ass'y

Open the door 
by pushing 
or pulling 
the handle

Deadbolt and latch bolt 
are go inside When you close door, 

it's locked automatically. 

3.  Fix the exact position of template and mark the drilling 
      position for hole making. Change direction of template and 
      mark the drilling position on opposite side in same way.

Mortise lock

Indoor
5. Select Push/Pull direction of front ass'y & back ass'y 
     before installation.

Notice) Insert key shaft to hole        correctly.

1.  Insert handle shaft from outdoor to indoor and fix stop ring 
       to the hole on indoor side of handle shaft.

Installation method for left handed door and right handed door is same.
Before installation, adjust the direction of latch bolt and striker as per door opening direction.

1.  Insert mortise to side of door and pull out cable 
     to indoor.

Install mortise

FH M4X10
2EA

Change latch bolt direction

1.  Rotate latch bolt. 2.  Confirm the direction of latch bolt and 
      fix the plate using FH M4X10, 2EA.

RH LH

Indoor Outdoor

IndoorOutdoor

①

②

OUT IN

①

Make indoor hole Make outdoor hole

Check operation of product

Checking point after installation

Folding by 90 degree and 
stick to door surface

Make sure that folding 
line is vertical

Mark drilling 
position

Hole of 
handle shaft

Key Shaft Door Thickness
1 90 mm 6
2 100 mm 7
3 110 mm 8
4 120 mm 9

Door Thickness
40 mm
50 mm
60 mm
70 mm
80 mm 5

�1 �2 �3 �4 �5 �6 �7 �8 �9

�1 �2 �3 �4 �5 �6 �7 �8

�1 �2 �3 �4 �5 �6 �7

�1 �2 �3 �4 �5

�1 �2 �3 �4

Key Shaft
�1 �2 �3 �4 �5 �6

�1 �2 �3

�1 �2

�1

FH 3/16-16 UNC 
2EA

FH 3/16-16 UNC 
2EA

2.  Fix the plate using FH 3/16-16 UNC, 4EA.

BH M5X30 (2EA)

BH M5X30 (1EA)

Back
side

OH M5X11
2EA

BH M5X24
2EACable position

Cable from 
Front ass'y

Mortise lock
cable

FH T4X19 (1EA)
          ※ Optional use

IndoorOutdoor

6. Put the cable of the front ass'y into the upper 
     hole (Φ32) and pass it inwards from the outside 
     of the door. Pass the cable through the top square 
     hole of the bracket for back ass'y and pass the 
     mortise cable passed from the "How to install-1
     (Install mortise)" through each cable through the 
     bottom square hole of the bracket for back ass'y.


